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Which Loan Costs More?
Supplemental Handout for Exercise 9.2
Ana opens a credit card. She pays an Annual Percentage Rate of 24%.  This means that interest will compound at 2% monthly.  Ana charges $1,000 on her card to get new appliances.  Each month she is charged 2% interest on the balance.  She has to make minimum payment of 5% of the amount owed.  See Revolving Credit Repayment Spreadsheet to answer questions 1 to 3.

Ana finds out from a friend that an installment loan may have been a less costly approach.  See Installment Loan Amortization Schedule to answer questions 4 to 7 about the installment loan for $1000 at 24% she could have gotten. 

1.  How many months will it take Ana to pay off the debt created by the revolving credit?

	


2.  How much interest will she pay on the $1,000?

	


3.  What percentage of the total loan does she pay in interest by the end?

	


4.  How much interest will Anna pay on the installment loan with the same interest rate?

	


5.  What are the advantages of installment loan over a revolving loan (credit card, payday, etc.)?  What are the advantages of revolving credit repayment over an installment loan?

	

	


6.  What percentage of the total loan does she pay in interest by the end?

	


7.  Which loan costs more?

	


Which Loan Costs More? 
Supplemental Handout for Exercise 9.2
 (ANSWER KEY FOR FACILITATORS)
1.  How many months will it take Ana to pay off the debt created by the revolving credit?

	60 months.  It would have taken even longer if she hadn’t made the lump sum payment in month 60.




2.  How much interest will she pay on the $1,000 by the end of the 60 month period?

	$381.57




3.  What percentage of the total loan does she pay in interest by the end of the 60 month period?

	$381.57/1000 = .38 or 38%




4.  How much interest will Anna pay on an installment loan with the same interest rate?

	$134.72




5. a.  What are the advantages of an installment loan over a revolving loan (e.g., credit card, payday)?  b. What are the advantages of revolving credit repayment over an installment loan?

	a. Total cost of an installment loan is less because the interest paid is less; same amount owed every month, which makes budgeting easier; less time to pay back the loan



	b. Monthly amount paid on a revolving loan is less



	


6.  What percentage of the total loan does she pay in interest by the end of the 60 month period?

	134.72/1,000 = .1347 or 13.5%




7.  Which loan costs more?

	The revolving credit loan.  It costs almost three times as much as the installment loan.
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